HEX MACHINE SCREW NUTS

SIZE BOX QTY ITEM # STAINLESS #

12-24 100 HNMO05 SSHNMO05

PLATED WING NUTS - Cold Forged
DESCRIPTION BOX QTY ITEM # DESCRIPTION BOX QTY ITEM #

FINISHED HEX NUTS
uss SAE GRADE 8
SIZE BOXQTY LOW CARB. STAINLESS LOW CARB. STAINLESS BOX QTY

i |20 ] b | eove. |
iwus | e | mvste ||
e L 1 Lo | e |

1-1/2 1 HNU824
See page 153 for
SAE HIGH HEX NUTS - PLAIN size specifications
SIZE BOX QUANTITY THICKNESS ITEM # - SAE

1552 awPwi 194

HEAVY HEX NUTS
SIZE QUANTITY ITEM # SIZE QUANTITY ITEM #

HNHVUO4 HNHVU10
HNHVUOS HNUH12

HNHVUO08
To Order Call: 708-447-4500 or Outside lllinois 800-837-8707




LOCK NUTS

PLATED “KEP” LOCK NUTS

SIZE QTY ITEM# STAINLESS # SIZE QTY ITEM # STAINLESS #

o2 | 00 | Jeo7 | |1a-20] 100 | HNKUOS | SSHNKUDS |

12-24 100 J611

STOVER LOCK NUTS ) See page 153 for size specifications
(HEAT TREATED ALLOY-G8) — PLATED ' e

SIZE QUANTITY ITEM#-USS ITEM # - SAE

HNUSTO4 HNSST04
HNUSTO6 HNSST06 JAM NUTS

SIZE QUANTITY ITEM#-USS ITEM # - SAE

B I B
iz | oo | mwws |

s |10 || Hwsstis |
NYLON INSERT LOCK NUTS - PLATED

BOX ITEM # - USS ITEM # - SAE
SIZE QTY LOW CARB. GRADE 8 LOW CARB. GRADE 8 STAINLESS

ees ||| T ssnuwwor
o7 || || ssHnUNvos
5/16 HNUNY05 HNUNY805 | HNSNYO5 HNSNY805 | SSHNUNY05
7/16 HNUNY07 HNUNY807 | HNSNYO07 HNSNY807 SSHNUNY07
9/16 HNUNY09 HNUNY809 | HNSNY09 HNSNY809 SSHNUNY09
HNUNY12 HNUNY812 HNSNY12 HNSNY812 SSHNUNY12
HNUNY16 HNUNY816 | HNSNY16 HNSNY816 SSHNUNY16
114 T2 R R R

SERRATED HEX GRADE GT STOVER
FLANGE NUTS FLANGE LOCK NUTS

SIZE QTY USS# SAE # f SIZE QTY USS# SAE #

HNUFO06
Hardened Steel Zinc Plated
To Order Call: 708-447-4500 or Outside lllinois 800-837-8707

HNSF06 HNUF12




WASHERS

FLAT WASHERS
BOX ITEM #
SAE USS G8 SAE G8 STAINLESS

“____
| #t0 | 250 | | wwmos | | | Sswwwmo3 |

SIZE

| sne f s00 ] owwuos | | | |

Chus |25 | wwuzo | | wwueo | wwseo |
Czen| 25 | wwues | owwsee | | |

2" 25 WWUuU32

See page 153 for size specifications

HARDENED EXTRA THICK FLAT WASHERS

SIZE =10) ¢ ITEM #

TY uss SAE
WWUS04 WWS904
MYLAR & NYLON WASHERS
DESCRIPTION & SIZE ITEM # WWU906 WWS906
3/16 MYLAR WASHERS WWMO06
.375 ID-1” OD X .014 THICK WWU908 WWS908
WWU910 WWS910
wwsia | wws9ta

FENDER WASHERS
SIZE QTY ITEM# STAINLESS# QTY SIZE |QTY ITEM#  STAINLESS# QTY

“516X 10D 100 [WWR0310 | |- |16X 120D 100 | WWF0512 | SSWWF05 | 25
axi-200 | 100 [wwrosrz | | | wextieop |oo| wwros | | |

5/16 X 1-1/4 OD | 100 WWF05 | SSWWFO0511 | 25 1/2 X2 0D 100 | WWF0820 | SSWWF08 | 50

To Order Call: 708-447-4500 or Outside lllinois 800-837-8707




LOCK WASHERS

LOCK WASHERS

LOW CARBON PLATED GRADE 8 PLATED STAINLESS STEEL
SIZE BOXQTY ITEM # BOX QTY ITEM # BOX QTY ITEM #

e | oo | owwweo |
de | w0 | wewoe | | | o0 | sswwor
s2 | so | wewoe | | | o0 | sowwiwoe
e | wwe | oz | wwes | o |

*Add “P” for Plain

INTERNAL & EXTERNAL LOCK WASHERS - PLATED
SIZE BOX QUANTITY  ITEM#-INTERNAL  ITEM # - EXTERNAL

w1 w [ wwess
e | | wwwoe | wwwee

17 25 WWLI16 WWLE16

To Order Call: 708-447-4500 or Outside lllinois 800-837-8707




1/4” & 5/16” HEX HEAD CAP SCREWS

HEX HEAD CAP SCREWS

2 , ZINC PLATED YELLOW PLATED | :
z'cl');( A WY GRADES GRADE 8 R STAINLESS

UssS SAE Uss SAE Uss

I - T
ceuowo | cesowo |
ceosso | Gesoso |
| sexrs oo | Grosr (| |
oeosts | Gesos |

5/16 x 3-1/2 GFU0532 GFS0532 GEU0532 GES0532 SSHHU0532
5/16 x 4 GFU0540 GFS0540 GEU0540 GES0540 SSHHU0540
5/16 x 5 GFU0550 GFS0550 GEU0550 GES0550 SSHHU0550

5/16 x 6 25 GFU0560 GFS0560 GEU0560 GES0560
See page 153 for specifications

To Order Call: 708-447-4500 or Outside lllinois 800-837-8707




3/8” & 7/16” HEX HEAD CAP SCREWS

HEX HEAD CAP SCREWS

ZINC PLATED YELLOW PLATED | . Y
GRADE 5 GRADE 8 R [ STAINLESS

20/ USSs SAE USsSSs SAE USS
"~ woxiz |10 | Growoz | Grsoeoe | Geuosoe | Gesome |
osxss o | | feeues | )
"
E]
| smxsie | 25 | orosse | orsosse | Geuosse | cesosse |
BTN I R R T R
| 38x8 [ 25 | GFuossO | ¢} | |
:
|
|
F
| 7iexaiz | 25 | Gruorae | orsorse | Geuoree | cesoree |
[ msasie | 25 | cruome | orsome | ceuose | Gesome | |
nexr |1 laroro | |

See page 153 for size specifications

To Order Call: 708-447-4500 or Outside lllinois 800-837-8707

VEFRTRRTREYEY




1/2” HEX HEAD CAP SCREWS

HEX HEAD CAP SCREWS

4 7INC PLATED YELLOW PLATED ANA;
ch)\)(( ‘@)Y GRADES5 GRADES ‘@Y  STAINLESS

UsSs SAE

s o0 | Gruoeos | Groom | Geumme | Grsosos [

Pl
N
'
eiasw |2 | L loess | |

1/2 x 5-1/2 - GFU0852 GFS0852 GEU0852 | GES0852 _

- PLAIN -
GRADE 8
1/2 x 6-1/2 GFU0862 GEU0862 GES0862

vexs | 1| | | oo | cesomo |

1/2 X 9-1/2 GFuose2 | | GEuoss2 | GEsos2 | 00

1/2 x 11 1 GFU08110 GEU08110

.ﬂ‘IHI"IE'HTFHHP-‘

See page 153 for size specifications

INFASCO

To Order Call: 708-447-4500 or Outside lllinois 800-837-8707




9/16” HEX HEAD CAP SCREWS

HEX HEAD CAP SCREWS

N A ZINC PLATED YELLOW PLATED | \
W ;} ‘‘YBY GRADES5 GRADES "G STAINLESS

y U SAE uss SAE uss
N T T T
Geuose | cesose2 |
Geuos:o | cesosao |
Geuose | cesos |
Geuoseo | Gesosso |
| ceuosso | cesosso |
Geuoseo | cesoseo | |

— PLAIN -
SAE
/16 x 6172 T —

onoxrz | 1| | | cevoorz | cesosrz | |

See page 153 for size specifications

g L PR

INFASCO

To Order Call: 708-447-4500 or Outside lllinois 800-837-8707




5/8” HEX HEAD CAP SCREWS

HEX HEAD CAP SCREWS

Sox @A 7INC PLATED YELLOW PLATED 28
SIZE o ‘@BY GRADES5 GRADES ‘GBY STAINLESS

104
a USS SAE

uss SAE uss
" Sex1 s | Gruwn | | Geviowo | aesoo |
et
ceuosz | ceswosz |

— PLAIN -
USS SAE
sexoi | 1

IH‘IHI'IH"ITI'FHH'?

| sex7a2 | | | I
| sxsi2 | 1| | I
| sexotr2 L4 | 0 |
| sexto2 | ) | | |
ICESIE TN [ T I I R AR R

5/8 x 13 1 GFU10130 GEU101300
See page 153 for size specifications

INFASCO

To Order Call: 708-447-4500 or Outside lllinois 800-837-8707




3/4” HEX HEAD CAP SCREWS

HEX HEAD CAP SCREWS

y ZINC PLATED YELLOW PLATED

GRADE 5 GRADE 8 - STAINLESS
QTY ——

‘ USss SAE uUss SAE USS
i @ | | rswn | Geveno | Gesweo | |
cevrez | cesiez | |
Gevrieo | cesiem | |
Geve | cesee | |
Gevreso | cesizwo | |
Geuizso | Gesieso | |
Geurzeo | Gesieso | |

- PLAIN -
GRADE 8
uss SAE
3/4 x 6-1/2 1 SSHHU1262

See page 153 for size specifications

= J.l#l\
A

ol

INFASCO

To Order Call: 708-447-4500 or Outside lllinois 800-837-8707




7/8” HEX HEAD CAP SCREWS

HEX HEAD CAP SCREWS

ZWA 7ZINC PLATED PLAN ANB.
BOX 4 GRADE 5 GRADES ‘UBY f Tk
QTY :

uss SAE uss SAE g
x4 |20 || ] aEsian mi
xtae |20 | || T eesis |
- 7ex2te 20 || | Geuter |
- mc2ss (10 | | faeuues |
:

— PLAIN -
GRADE 8
SA
78 x 6112 ]

ey L R

exre | 1 | || ceviere | ceswre
oxoe | 1 | | | | cesuse

7/8 x 11 1 GEU14110
See page 153 for size specifications

Also available
» Larger Sizes
» Special Sizes
 Secondary processing
Drilling
Threading
Cutting

To Order Call: 708-447-4500 or Outside lllinois 800-837-8707




1” HEX HEAD CAP SCREWS

HEX HEAD CAP SCREWS

ZA ZINC PLATED PLAIN &
SIZE BOX @Y GRADES5 GRADE8 "

ary USS SAE

uss SAE
[ ix1 s [ 7
| ixi12 [ 5 |Grutet2 |} |
I R D e e —

— PLAIN -
GRADE 8
USS SAE

ERECEN N
BRI N N
IEEEICI I N
IEEXECEN I R R .

1X13 1 GEU16130

See page 153 for size specifications

LK

SHIREFRTET TR

INFASCO

To Order Call: 708-447-4500 or Outside lllinois 800-837-8707




1-1/8, 1-1/4, & 1-1/2” CAP SCREWS

HEX HEAD CAP SCREWS

— PLAIN -

A GRADE 8

QTY

uss -
| tx212 |1 | [ | oGeusze [ ]
| tex32 |1 | | | ceuiss2 [ |
| t8x5 (1 | | ] GEUtes0 | |
[ 1sxe |1 | | | oGeuiseo | |
I N T S T
| taxsa2 |1 || | GEuos2 [ |
| t4axat2 |1 | [ | GEuzo42 | |
| taxsi2 |1 || | Geuos2 [ |
| t4axe12 |1 | [ | GEuzoe2 | |
| t14xs [+ | | ] GEU80 | |
| taxot2 |1 | | I GEu92 |
I N N T T
| taexst2 [0 | | ) GEumsz | |
| ttexate |1 || | GEueamsz | |
| ttexe [ 1 | | | GEuaaso [ |

See page 153 for size specifications

Also available
e Larger Sizes
* Special Sizes
* Secondary processing
Drilling
Threading
Cutting

To Order Call: 708-447-4500 or Outside lllinois 800-837-8707




FLANGE BOLTS & NUTS

GRADE 8 USS FLANGE (FRAME) BOLTS
Hex Washer Head Black Phosphate and Oiled
DESCRIPTION BOX QTY ITEM #

GRADE GT STOVER
USS FLANGE LOCK NUTS BETET 25 GEUFOG2

SIZE | ary ITEM #

3/8 -16 *serated flange HNUF05 1/2-13 x 1-1/4 GEUFO0811
1/2-13 HNUF08 1/2-13 x 1-3/4 GEUF0813

3/4 - 10 HNUF 12 1/2-13 x 2-1/4 GEUF0821
**Black Phosphate & Oiled for use
with Grade 8 Flange Bolts
1/2-13x 3 GEUF0830
GR 8.8 METRIC FLANGE BOLTS 1/213x 5 GEUF0850

Zinc Hex Washer Head
5/8-11 x 1-1/2 GEUF1012
DESCRIPTION BOX QTY ITEM #
M6 X 1.0 X 12 MMHFLO0612 5811 x 2 GEUF1020

M6 X 1.0 X 20 MMHFLO0620 5/8-11 x 2-1/2 GEUF1022
L| M6 X 1.0 X 30 MMHFL0630 5/8-11 x 3 GEUF1030
M6 X 1.0 X 60 MMHFL0660 5/8-11 x 4 GEUF1040

*Zinc

See page 153 for size specifications
METRIC FLANGE NUTS

SIZE QTyY ITEM #
M8 X 1.25 X 60 MMHFL0860 M6 -1.00 MMHNCF06
M10 X 1.5 X 20 MMHFL1020

M10 -1.50 MMHNCF10
M10 X 1.5 X 30 MMHFL1030

M10 X 1.5 X 60 MMHFL1060

M12 X 1.75 X 25 MMHFL1225
M12 X 1.75 X 60 MMHFL1260 M14 -2.0 MMHNCST14

M16 X 2.0 X 20 25 MMHFL1660 M20 -2.50 25 MMHNCST20

M14 -1.00

METRIC STOVER NUTS
SIZE QTY ITEM #

M10 -1.5 MMHNCST10

MMHNCF14




METRIC

HEX & NYLOCK NUTS - METRIC

SIZE THREAD BOX 8.8 10.9 NYLOCK NUT
PITCH QTyY ITEM # ITEM # ITEM #

CowuCowss | | 2 | wwewcos | | weNoNvoD
oM Cowse | 08 | 25 | WMANGOS | WMIOMNGOS | MMHNCNYOS
oovmoomse | 3 | a5 | | uwiomcar | murnowvas
Cewurne | 1o | o | wwewros | wwomveoe |
CowFne | s | 2 | wwewei2 | wwiomere |
CiowEne | 15 | 2 | wweweie | wwomvee |
Caowmrne | 1o | e | wwewo | |
Cowcrarne | oo | es | wweweio | |

22MM X-tra Fine 1.5 25 MMHNXF22

WASHERS - METRIC - FLAT & LOCK
FLAT WASHERS LOCK WASHERS
SIZE QTyY 8.8 ITEM # 10.9 ITEM # QTyY ITEM #

T 5o | wwwwos |
e | s | wewor |

To Order Call: 708-447-4500 or Outside lllinois 800-837-8707




8.8 METRIC HEX HEAD CAP SCREWS

COARSE METRIC HEX HEAD CAP SCREWS GRADE 8.8 - PLAIN
SIZE QTY| ITEM# PITCH SIZE QTY| ITEM# PTCH SIZE QTY ITEM# PITCH

(51200 | 25 [MHCCO20 | 05 |6+10MM | 25 | MMHCCO8T0 | 1.25 |14x20MM | 25 | MMHCC1420 | 20
5.aom | 25 | MiiHoG0s30 | 08 |sxtemi | 25 | MHoGD81S | 125 |1exaomn | 25 | mwHCG14%0 | 20
5wt | 25 [ WHOG0S40 | 08 |si25mit | 25 | MHoGD825 | 125 |1exdonia | 25 | MHCG1440 | 20

Teiou | 2 |mmiscorso | 10 [1mou] 2o | Mwicoreso | 11e |inows] 1 | wersso | 20
L 1| reooum| 25 [mwccizso | 175 [eooum| 10 | wiHcczos | 25 |

Additional sizes available

ITEM #
LA160

The LA160 Coarse Metric 8.8 Pan Assortment ITEM #
contains the following items: LA161
MMHNCO06, MMHNC08, MMHNC 10, MMHNC 12,

MMLWo6, MMLWO08, MMLW10, MMLW12,

£l
i

The LA161 Fine Metric 8.8 Pan Assortment
contains the following items:

MMWW12, MMWW14

MMHCC0640, MMHCC0816, MMHCC0825,
MMHCC1040, MMHCC1050

MMHCC 1250, MMHCC 1275

3
i
£l
tl

To Order Call: 708-447-4500 or Outside lllinois 800-837-8707




8.8 METRIC HEX HEAD CAP SCREWS

FINE & XTRA FINE METRIC HEX HEAD CAP SCREWS GRADE 8.8 - PLAIN
SIZE |QTY ITEM# |PWCH SIZE QTY ITEM# PITCH SIZE QTY  ITEM# PITCH

XTRA FINE THREAD

05t 25 | WHCF1045 | 125 |16xaou] 10 | MMHGF1630 | 15 |12xaomi| 25 |MuHOXF1230| 125 |
10550 25 | MHCF1055 | 125 |16xaou] 10 | MHGF1640 | 15 |12xdomu| 25 {uHoXF1240| 1.25 |
1220MM] 25 | MMHCF1220 | 15 |i6x7ou] 10 | MMHGF1670 | 15 |12x6oma| 25 |wuaHoXF1280 | 125 |
i2xc0m| 25 | MHCF1230 | 1.5 [18xaou] 10 | MHGF18a0 | 15 [12c7omu] 25 [mcxeizro| 1.25

Additional sizes available

GRADE 8 PLOW BOLTS
DESCRIPTION BOX QTY ITEM #

1/2-13 x3 GEUP0830
5/8-11 X 2-1/2 GEUP1022

5/8-11 X 3-1/2 GEUP1032
3/4-10 X 2-1/2 GEUP1222
3/4-10 X 3-1/2 GEUP1232

3/4-10 X 4-1/4 25 GEUP1242

To Order Call: 708-447-4500 or Outside lllinois 800-837-8707




10.9 METRIC HEX HEAD CAP SCREWS

COARSE METRIC HEX HEAD CAP SCREWS GRADE 10.9 - PLAIN
SIZE ITEM # PITCH  SIZE ITEM # PITCH  SIZE ITEM # PITCH

xievi | 25 |iioHoC0616| 10 | ioxsonm| 25 |whtorcC1oso| 15 |1exaoum| 10 | whtorcGieso| 20 |
xo50vi | 25 |wi1oHoC0G25| 10 | 10x7svm| 25 |whiorCo1075| 15 |16xeou| 10 | MhtoHcGtedn| 20 |
xasu | 25 |uiioHCCoeas| 1.0 |1oxson| 25 |whiioncC1oso| 15 |16xsom| 10 | MhrtorcCieso| 20 |
6xi5M | 25 | Mi10HCC0645| 1.0 |12xesh| 25 |WhiTOHCC1225) 175 |16x65MM | 10 | MA1OHCCT6s5| 20 |
6x550M | 25 | M1OHCCOESS| 1.0 |12xash| 25 |WMITOHCC1235] 175 |16x75MM | 10 | MM10HCC1675| 20 |
[6x70M | 25 | Mi10HCC0670| 1.0 |12xashi| 25 |WhitoHCC1245] 1.75 |16x90MM | 10 | Mh10HCCT690| 20 |
o5 | 25 | i1oHoCs25 | 125 | 12:70MM| 25 |WhToHCGT270] 175 |i8xeo| 10 | MhrtoHcGisen| 25 |
a5 | 25 | i1oHOC0a3S| 125 | 12sc0um| 25 |whtoHCCT20] 175 |18xsou| 10 | MhtorcGieso| 25 |
60 | 25 | i1oHOCB60| 125 | 1axasum| 25 |whtoHCC1ass| 20 |1excou] 10 | whtorcGtsso| 25 |
a0t | 25 | i1oHOC0380| 125 | 1axashm| 25 |whitorcoTass| 20 |eowsomm] 10 | MhrioHoceooso| 25 |
10GouM| 25 |Mi1oHCC1030| 1.5 |14xgon| 25 |WhitonCC1480| 20 |20xoom| 10 | MhioHCCeooso| 25 |

10x40MM | 25 | MM10HCC1040( 1.5 |14x100MM| 25 | MM10HCC14100| 2.0
Additional sizes available

THE LA105 8.8 COARSE & FINE ASSORTMENT CONTAINS:

ITEM # DESCRIPTION ITEM # DESCRIPTION

MMHCC0620 6MM - 1.0 X 20 MMHCF1230 12MM X 1.50 X 30
MMHCC0630 6MM -1.0 X 30 MMHCF 1240
MMHCC0640 MMHCF1250
MMHCC0650 MMHCF1260
MMHCC0660 MMHCF1270
MMHCC0816 MMHCF 1435
MMHCC0820 MMHCF 1440
MMHCC0830
MMHCC0840

o
4
4
x
i
=}
x
N
S

cuumumaaauauggt
[S1=f=f=i-f-f-F-F-F-T-F=F=]

[oXe)
==
==
oo
X
o
S8
3¢ XXX X XXX X X X
Og

Zioloivivioin 5ok

Sommsas o bbbttt anonoonaaaaaa

MMHCF 1450
MMHCF1460
MMHCF1470
MMHCF1630
MMHCF1640
MMHCF 1650
MMHCF 1660
MMHCF1670

l=l=l=t=1=F=} PN
XXX X
XXXXXX R o

XXXXXX Jounbwnooodon @
ooocooo

HEX NUT 6M| .00
HEX NUT 8MM X 1.25
MMHCC1225
MMHCC1230
MMHCC1240
MMHCC1250
MMHCC1260
MMHCC1270
MMHCF0816
MMHCF0820
MMHCF0825

ITEM # MMHCF0830

MMHCF0840
LA1 05 MMHCF0850

Also shown on page 140

aaaaaa
ocoooowm

HEX NUT 16MM X 1.50
LOCKWASHER 6MM
LOCKWASHER 8MM
LOCKWASHER 10MM
LOCKWASHER 12MM
LOCKWASHER 14MM
LOCKWASHER 16MM
FLATWASHER 6MM
MMWWo08 FLATWASHER 8MM
MMWW10 FLATWASHER 10MM
MMWW12 FLATWASHER 12MM
MMWW14 FLATWASHER 14MM
MMWW16 FLATWASHER 16MM

XXX XX
Q1 WD =+

QIO O SO SSONNNNNN

Saaaaaa

XXX XXX X
NOUTBWNNOOOUIOD NDUTEWN

noooouo

MMHCF1225

To Order Call: 708-447-4500 or Outside lllinois 800-837-8707




10.9 METRIC HEX HEAD CAP SCREWS

FINE & XTRA FINE METRIC HEX HEAD CAP SCREWS GRADE 10.9 - PLAIN
SIZE QTY ITEM# PITCH  SIZE ITEM#  PITCH SIZE QTY  ITEM# PITCH

(5610 | 25 |M10HGFO810| 10| cooub] 25 ioHCri2100| 1.5 [INEIPAITNGN RIS
20 | 25 |WM10HCF0820 | 10 | 14xas] 25 [uhiioHGF14as | 1.5 |txcotm | 25 wionoxFizz0] 1.25
60450 | 25 |WM1OHGFO845 | 10| 14x60MM| 25 [uM1OHCF1460| 1.5 |12xaon| 25 [wiomoxFizi0] 125
10s30MM | 25 |M10HGF1030 | 125 | 1axoou 25 fumioHcFiaso 15 | | | |
1os60MM| 25 |WM10HGF1040 | 125 |iactzow| 5 [wiorcrrerol 15 | | | |
10155 | 25 |MM10HCF1055 | 1.25 | 1o:aoum] 10 fumioHcFisao 15 | | | |
12:25M | 25 |WM1oHC1225| 15 | 1swesv] 10 fuwionoFises| 15 | | | |
12xas | 25 |uioHGF1205| 15 | 1sicomu] 10 fuwionoFtseo| 15 | | | |
12:50uM | 25 |MrorC1250| 15 |vextzow] 5 |wwoscrrero 15 | | | |
12x70uM | 25 |urorCF1270| 15 |textiowu] 1o wwrorcrrero| 15 | | | |

Additional sizes available

THE LA106 10.9 COARSE & FINE ASSORTMENT CONTAINS

ITEM # DESCRIPTION ITEM # DESCRIPTION
MM10HCC0620 MM10HCF 1240 12MM -1.50 X 40
MM10HCC0630 - MM10HCF 1250 12MM -1.50 X 50
MM10HCC0640 - MM10HCF1260

MM10HCC0650
MM10HCC0660
MM10HCC0816
MM10HCC0820

MXXXXXXX XX
DUBWND U S
[=l=Y=I=T=}==F=)

MM10HCF1650
MM10HCF1660
1. MM10HCF1670
MM10HCC1050 1. MM10HNCO06
MM10HCC1060 -1 MM10HNC08 HEX NUT 8MM 1 25
MM10HCC1070 -1, MM10HNC10 HEX NUT 10MM -1.5
MM10HCC1225 -1, MM10HNC12 HEX NUT 12MM -1.75
MM10HCC1230 -1, MM10HNC14 HEX NUT 14MM -2.00
MM10HCC1240 -1, MM10HNC16 HEX NUT 16MM -2.00
MM10HCC1250 -1. MM10HNF8 HEX NUT 8MM -1.00
MM10HCC1260 -1, MM10HNF10

MM10HCC1270 -1, MM10HNF12

MM10HCF0810
MM10HCF0820
MM10HCF0825

ITEM #
LA106

Also shown on page 140 1 LOCKWASHER 6MM
LOCKWASHER 8MM
LOCKWASHER 10MM
LOCKWASHER 12MM
LOCKWASHER 14MM

MMLW16 LOCKWASHER 16MM




SOCKET HEAD CAP SCREWS

SOCKET HEAD CAP SCREWS
SIZE BOXQTY  ROUND HEAD FLAT HEAD BUTTON HEAD

| 1420x1-1/2 | 100 | SKTUO412 | SKTFUo4t2 | |

| /4202 ] 100 | SKTUO420 | SKTFUo420 | |

| 1/420x3 | 100 | SKTUo430 [ | |

| 5/16-18x1-1/4 | 100 | SKTUOST1 | SKTFUOS™T |
Round Head _
sreiwerz | 10 | oskruose | |
| 516-18x3-1/2 | 100 | SKTU0532 | SKTFUOS32 [
| 8/8-16xi2 | 100 | SKTUOBO2 | | SKTBUO602 |
| 38-16xi-12 | 100 | SKTUOBI2 | SKTFUost2 | |
ssieeie | so | ke | srruosz2 | |
| 3/816x31/2 | 50 | SKTuoes2 f [
Jnetaxtuz | 0 | skruorz | sktruoriz |
| 7/16-44x2-1/2 | 50 ] SKTUO722 | [ |
| 7AMe4xa1/2 | 50 | sktuo7s2 | | |
" ie1vere | so | scuose | skreuose | |
Button Head | 1/213x31/2 | 50 | SKTU0B32 | SKTFUoss2 | |

| seia | 25 | scuios | sk |

5/8-11x4 25 SKTU1040
Additional sizes available

To Order Call: 708-447-4500 or Outside lllinois 800-837-8707
20




CARRIAGE BOLTS

FULL-THREAD CARRIAGE BOLTS - ZINC PLATED
LENGTH 1/4 - 20 5/16 - 18 3/8 - 16 1/2-13

CB0403 cB0503 |
1-1/4 CB0411 CBO0511 CBo0611 CB0811

1-3/4 . | cBoeiz | |

owa | L ceoset |
| 234 (| CB62 [ |
s | L1 ceosst |

PARTIAL-THREAD CARRIAGE BOLTS - ZINC PLATED
6 | CB0o460 | CBO560 |  CBO660 [  GCB086O

| 8 | cBo4s0 | |  CB0680 CB0880

12 CB08120

RIB-NECK CARRIAGE BOLTS - ZINC PLATED
DESCRIPTION ITEM # BOX QTY

100
100
100
100

3/8-16x3 CBRN0630 50

TORX HEAD BOTTOM RAIL BOLTS - zZINC PLATED
DESCRIPTION ITEM # BOX QTY

3/8-24 X 1 TBH0610

3/8-24 X 1-1/4 TBHO0611 100
3/8-16 X 1-1/4 TBHUO0611 100

3/8-16 X 1-7/8 TBH0617 100

To Order Call: 708-447-4500 or Outside lllinois 800-837-8707




ELEVATOR, STEP BOLTS & KITS

ELEVATOR BOLTS - ZINC PLATED
LENGTH 1/4-20 5/16-18 3/8-16

1-1/2 CBEL0412 CBEL0512 CBEL0612

CBEL0420 CBEL0520 CBEL0620
2-1/2 CBEL0422 _ CBEL0622

STEP BOLTS - ZINC PLATED
LENGTH 1/4 - 20 5/16 - 18 3/8 - 16

1-1/2 CBST0412 CBST0512 CBST0612

CUSTOM PACKAGING AVAILABLE

PACKAGED KITS QTY 1
DESCRIPTION QTY KIT CONTENTS

KITO6 CROSSMEMBER 3/8 - 16 X 1-1/4” RIB NECK CARRIAGE BOLTS GRADE 5
3/8 - 16 FLANGE NUTS
3/8 MYLAR WASHERS

o 00

KITTXUO06 BOTTOM RAIL 3/8 - 16 X 1-1/4” TORX BUTTON HEAD SCREWS

3/8 - 16 FLANGE NUTS

@

KIT0410 1” ELEVATOR BOLTS 100 | 1/4 X 1” ELEVATOR BOLTS
100 | 1/4 - 20 KEP NUTS

KIT0412 1-12”ELEVATORBOLTS | 100 | 1/4 X 1-1/2” ELEVATOR BOLTS
100 | 1/4 - 20 KEP NUTS

KITO411ST | 1-1/4” STEP BOLTS 100 | 1/4-20 X 1-1/4” STEP BOLTS
100 | 1/4 - 20 KEP NUTS

KIT0420ST | 2’STEP BOLTS 100 | 1/4-20 X 2” STEP BOLTS
100 | 1/4 - 20 KEP NUTS

22

To Order Call: 708-447-4500 or Outside lllinois 800-837-8707 éﬁg_;:



FLOOR & WOOD SCREWS

TORX FLOOR-BOARD SCREWS

1/4 5/16 TORX

DESCRIPTION TORX-FLAT  pgscRriPTION TORX-FLAT  pESCRIPTION PAN
PHOS & OIL PHOS & OIL ZINC PLATED

1/4 x 17 FLST0410 5/16 x 17 FLST0510 1/4 x 3/4” FLSTP0403

1/4 x 1-1/2” FLST0412 5/16 x 1-1/2” FLST0512 1/4 x 1-1/2” FLSTP0412

1/4 x 2-1/4” FLST0421 5/16 x 2-1/4” FLST0521 1/4 x 2-1/2” FLSTP0422
1/4 x 3” FLST0430 5/16 x 3" FLST0530 5/16 x 17 FLSTP0510
1/4 x 47 FLST0440 5/16 x 4” FLST0540 5/16 x 2" FLSTP0520

| 564 FLSTP0540

Box quantity is 100. Bulk quantities available

FASTENING SYSTEMS FOR THE TRANSPORTATION INDUSTRY
FASTENING SYSTEMS FOR INTERIOR WOOD LINING
DESCRIPTION BOX QTY ITEM # PLATING

10 x 3/4” SCI Liner Screw STLPL1003 Zinc/Yellow

10 x 1-1/4” SCI Liner Screw 100 STLPL1011 Zinc/Yellow
SCI Liner Screws use #2 square drive apex bit.

PLYWOOD LINING SCREWS - Phillips & Torx Wafer Head Tek Screws - Zinc Plated
DESCRIPTION BOX QTY ITEM # DESCRIPTION BOX QTY L=

10 - 24 x 3/4” Phillips SMSTKW1003 | 10- 16 x 1" Torx SMSTKWT1010

10 - 24 x 1-1/2” Phillips| 100 SMSTKW1012 10 - 16 x 1-1/2” Torx 100 SMSTKWT1012

PHILLIPS FLAT HEAD WOOD SCREWS - Zinc Plated
DESCRIPTION  BOX QTY ITEM # DESCRIPTION  BOX QTY ITEM #

To Order Call: 708-447-4500 or Outside lllinois 800-837-8707
23




SHEET METAL SCREWS

PHILLIPS PAN HEAD SHEET METAL SCREWS

=10).4 STAINLESS BOX STAINLESS
SIZE QTyY ITEM # ITEM # SIZE QTY ITEM# ITEM #

6 x 3/8 SMSPH0606 |SSSMSPH0606 | 10 x 1-3/4 SMSPH1013 [SSSMSPH1013
6 x 5/8 SMSPHO0605 [SSSMSPHO0605 | 10 x 2-1/2 SMSPH1022 | SSSMSPH1022
SMSPH0610 |SSSMSPHO610| 12 x 3/4 SMSPH1203 | SSSMSPH1203

8 x 3/8 SMSPH0806 |SSSMSPH0806 | 12 x 1-1/4 SMSPH1211 | SSSMSPH1211

“T0xa5 | 100] swsprioos | | text-a |100| Susprierr |sssusprierr

10x1-1/2 [ 100| SMSPH1012 [SSSMSPH1012
Additional sizes available Truss Head and Flat Head also available.

SLOTTED PAN HEAD SHEET METAL SCREWS

=10) STAINLESS =10) ¢ STAINLESS
SIZE QTyY ITEM # ITEM # SIZE QTY ITEM # ITEM #

6x1/2 SMSSL0602 | SSSMSSL0602 | 10 x 1-1/2 SMSSL1012 | SSSMSSL1012

SMSSL0610 | SSsMssLo610 | 12x 1/2 SMSSL1202 | SSSMSSL1202

Additional sizes available Truss Head and Flat Head also available.

To Order Call: 708-447-4500 or Outside lllinois 800-837-8707




SHEET METAL SCREWS

HEX HEAD SHEET METAL SCREWS - Zinc Plated

SLOTTED HEX SLOTTED HEX
WASHER WASHER
HEX HEAD HEAD HEX HEAD HEAD
SIZE QTyY ITEM # ITEM # SIZE QTY ITEM # ITEM #

“ouve |00 |susosor |
ouse |0 |suswosos | | sexue |0 |swswnaor | |

6x 1-1/2 sMsHHoe12 | | 12x1-3/4 SMSHH1213 | |
8x1/4 smsHHoso1 | | 12x 1172 SMSHH1222 | |

iexsn |00 | svswrieos |
| sx2 | 100 |swsHhomo |
“Sexr |0 [sveteo |
Cwoxie | so |svswiez |

USE WRENCH SIZES AS FOLLOWS: #6 & #8 = 1/4, #10 & #12 =5/16, #12=7/16, 5/16 =1/2, 3/8 =9/16
DIAMETER MEASURES AS FOLLOWS: #6=1/8 #8=5/32 #10=3/16 #12=7/32 #14 =1/4

The LA119 Pan Assortment — =
contains the following items: - The LA120 Pan Assortment

SMSHH1410, SMSHH1503, SMSHH1510, = contains the following items:
E | SMSHH1403, SMSHH1410, SMSHH1503,
SMSSL0802, SMSSL0803, SMSSL0810,

SMSPH0610, SMSPH0612, SMSPH0802,
SMSSL1010, SMSSL1012, SMSSL1202,
SMSSL1402, SMSSL 1403, SMSSL1410,

SMSPH1002, SMSPH1003, SMSPH1010,
SMSPH1210, SMSPH1212, SMSPH1402,




TEK SCREWS

HEX WASHER HEAD TEK SCREWS - ZINC PLATED

=10) 4 STAINLESS 210)4 STAINLESS
SIZE QTyY ITEM # ITEM # SIZE QTY ITEM # ITEM #

612 | 100 | SMSTKHOGOZ |SSSHSTKHOB02 sustimozo |

SMSTKH0610 | SSSMSTKH0610 SMSTKH1210 | SSSMSTKH1210

oxi2 | 100 | SUSTHOere |SSSSTRMOBr2 | 1ax3é | 100 | SWSTRIaO3 | SSSWSTRHIa03
Coxius (100 | suson | | gexs | o] susmano |

Additional sizes available

PHILLIPS PAN HEAD TEK SCREWS - ZINC PLATED

BOX 210)4

DESCRIPTION QUANTITY ITEM # DESCRIPTION QUANTITY

6x1/2 SMSTKP0602 10 x 1/2 SMSTKP1002
8 x 3/4 SMSTKP0803 10 x 1-1/2 SMSTKP1012

14 x 1 100 SMSTKP1410

ITEM #

Additional sizes available

The LA142 Pan Assortment
contains the following items:

SMSTKH0803, SMSTKH0810, SMSTKH1003,
SMSTKH1210, SMSTKH1212, SMSTKH1403,
SMSTKP0803, SMSTKP0810. SMSTKP1003,

| o BATTERY & LICENSE PLATE BOLTS
| (O) DESCRIPTION BOX QTY ITEM #

J - License Plate Bolts - White Nylon J735
W 5/16 - 18 x 1-3/8 Battery Bolts 50 J861

MIB512 V:‘J861 Packaged with Shoulder Hex Nuts - Plated




AUTOMOTIVE FASTENERS

DESCRIPTION DESCRIPTION

Barrel Nut 100 J-1004
1/8 Stud for 11/64 Hole

Cage Nut For 5/16 - 18 Bolt| 50 J-1015

cE=

Barrel Nut
1/8 Stud for 3/16 Hole 100 J-1006 J-Nut For 5/16 Screw 50 J-1031

Barrel Nut
3/16 Stud for 1/4 Hole

U-Nut For #8 Screw

Push Retainer For 1/4 Bolt
Push Retainer For 5/16 Bolt
Push Retainer For 3/8 Bolt
Push Retainer For 1/2 Bolt

U-Nut For #10 Screw

SNAP FASTENERS

BOX BOX
DESCRIPTION QTy ITEM# DESCRIPTION QTY ITEM#

A7677 Clinch Plate Nickel on Brass A7684

: &) | Die for use with A7679 and
Stud Nickel on Brass A7679 f3 A7682 A7692
Phillips Wood Screw Nickel 100
on Brass #8 x 5/8” A7680

Button Nickel on Brass
11/64” Barrell Length

Handpress Tool for use with
A7677, A14830, A7678,
A7679, A7682. 1 A14835
(Tool automatically
punctures material.)

Phillips Head Nickel On Brass
#8 x 3/4

A16419

To Order Call: 708-447-4500 or Outside lllinois 800-837-8707
27




MACHINE SCREWS

MACHINE SCREWS - Zinc Plated
DESCRIPTION BOX QTY SLOTTED # PHILLIPS # FLAT PHILLIPS #

6-32x1/2 MS063202 MSPH063202 MSPFH063202

6-32x 1 MS063210 MSPH063210 MSPFH063210

8-32x1/2 MS083202 MSPH083202 MSPFH083202

8-32x 1 MS083210 MSPH083210 MSPFH083210

8-32x2 MS083220 MSPH083220 MSPFH083220

10 - 32 x 3/4 MS103203 MSPH103203 MSPFH103203

O, 10 - 24 x 1/2 MS102402 MSPH102402 MSPFH102402

PRILLIPS 10 - 24 x 1 MS102410 MSPH102410 MSPFH102410

10 - 24 x 2 MS102420 MSPH102420 MSPFH102420

10 -24 x 3 MS102430 | | MSPFH102430

1/4 - 20 x 3/4 MS142003 MSPH142003 MSPFH142003

1/4 x 20 x 1-1/2 MS142012 MSPH142012 MSPFH142012
1/4 - 20 x 2-1/2 MS142022 MSPH142022 | |

Additional sizes available

SLOTTED

The LA158 Pan Assortment
contains the following items:

HNMO1, HNM02, HNMO03, HNM04, HNMO5,
MSPH083202, MSPH083203, MSPH083210,
MSPH103202, MSPH103203, MSPH103210,

WWMO1, WWM02, WWM03, WWMO05

The LA121 Pan Assortment
contains the following items:

HNMO1, HNM02, HNMO03, HNMO04,

e

i e

MS063210, MS083202, MS083203,
LA121 MS103202, MS103203, MS103210,

ITEM #

WWMO02, WWMO03, WWMO05

To Order Call: 708-447-4500 or Outside lllinois 800-837-8707




MACHINE SCREWS

MACHINE SCREWS - stainless Steel
DESCRIPTION  BOXQTY  SLOTTED # PHILLIPS # FLAT PHILLIPS #

6-32x34 | 100 | SSMS063203 SSMSPH063203 SSMSPFH063202
6-32x1-1/2 SSMS063212 SSMSPH063212 SSMSPFH063212
8 - 32 x 3/4 SSMS083203 SSMSPH083203 SSMSPFH083203
8-32x 1-1/2 SSMS083212 SSMSPH083212 SSMSPFH083212
10-32x 1/2 SSMS103202 SSMSPH103202 | |
10-32x1 | 100 | SSMS103210 SSMSPH103210 SSMSPFH103210
10-32x2 [ 100 | | SSMSPH103220 SSMSPFH103220 &
10 - 24 x 3/4 SSMS102403 SSMSPH102403 SSMSPFH102403 PHILLIPS
10 - 24 x 1-1/2 SSMS102412 SSMSPH102412 SSMSPFH102412
10 - 24 x 2-1/2 SSMS102422 SSMSPH102422 SSMSPFH102422
| 1/4-20x1/2 [ 100 | SSMS142002 SSMSPH142002 SSMSPFH142002
1/4-20 x 1 SSMS142010 SSMSPH142010 SSMSPFH142010
1/4 x 20 x 2 SSMS142020 SSMSPH142020 SSMSPFH142020

1/4-20x 3 100 SSMS142030 SSMSPH142030 SSMSPFH142030

Additional sizes available

SLOTTED

FLAT PHILLIPS

THREADED ROD
3 Foot Lengths - Zinc Plated 3 Foot Lengths - B-7 Hardened Plain

USS ITEM # SAE ITEM # USS B7 ITEM # SAE B7 ITEM #

W
o

ZINC PLATED
‘

B-7 PLAIN
|  RODU20 (| A4 1 |
—\UM4/= 710 Order Call: 708-447-4500 or Outside lllinois 800-837-8707

— = 29




CAMTAINERS

CAMTAINER NUTS
DESCRIPTION ITEM NUMBER ~ BOX QUANTITY

5/16 - 18 x 1/2 Std. Round 1" Head Dia. - TX55 CAMB89060008

Wy

‘\ 5/16 - 18 Encapsulated Gray-Barbed Neck CAMIN0502G

&

ENCAPSULATED
BARBED NECK

ENCAPSULATED CAMTAINER BOLTS
DESCRIPTION ITEM NUMBER  BOX QUANTITY

5/16 - 18 x 7/8 - Encapsulated (gray) CAMING0507
5/16 - 18 x 1 - Encapsulated (gray) CAMINGO0510 100

5/16 - 18 x 1-1/4 - Encapsulated (gray) CAMINGO0511 100

ROUND HEAD CAMTAINER BOLTS

DESCRIPTION ITEM NUMBER  BOX QUANTITY
5/16 - 18 x 7/8 Std. Round Head CAM88082120
5/16 - 18 x 1-1/4 Std. Round Head CAM88084160 100
’ HEX HEAD CAMTAINER BOLTS
DESCRIPTION ITEM NUMBER  BOX QUANTITY

5/16 - 18 x 1-1/8 Hex Washer Head CAMHHWO0511 100

To Order Call: 708-447-4500 or Outside lllinois 800-837-8707
30




TECHNICAL INFORMATION

FILLISTER

W

HEAD STYLES
FLAT FILLISTER

]

FLAT 82+

FLAT 100+

L 1

undercut unless otherwise specified-
not recommended for phillips recess

FLAT TRIM

deep slot used for
counter bored holes

FLAT UNDERCUT

same as standard
fillister without oval top

HEXAGON

used where flush
surface is desired

HEX WASHER

larger head than 82° used
for thin metal soft plastic

OVAL

gy

standard 82¢ with lower 1/3
countersink removed for short screws

same as flat head with
rounded surface for appearance

manufactured as trim
hex or indented hex

same as hexagon
with washer section

same as 82: except diameter
and countersink depth reduced

OVAL UNDERCUT ROUND

E

general purpose (see pan head)

ROUND COUNTERSUNK

OVAL TRIM PAN

=

recommended to replace
round, truss binder

SQUARE COUNTERSUNK

24

bolts only - similar to flat
head with no driving recess

TRUSS

same as oval - smaller
diameter and countersink

SQUARE

@

bolts only - large bearing

similar to flat undercut
with rounded surface

ROUND WASHER SQUARE (SET SCREW)

)

same as round head with integral for use on plow bolts recommended for similar to round head with

washer for bearing surface surface for wrench tightening high torque assembly larger diameter (see pan head)
DRIVING RECESS
CROSSED-RECESSED (PHILLIPS) SQUARE SOCKET POZI-DRIV SLOT & SQUARE SOCKET FREARSON
g | . B @
INDENT HEX WASHER PHILLIPS & SLOT INDENT SLOTTED HEX WASHER SLOT PHILLIPS PYRAMID
U @ @) &)
CROSS-SLOT TORX
@ @ ®
POINT STYLES
TYPEAB | TyPE17 | TYPEBP |  TYPEA |  TYPEB TYPE BT (25) TYPEC TYPE T (23)
| )
<R | <D | <WUR | <TUO% | VAN | Gomt | CHLTNND | GocdllOG
TYPED(1) |  TYPEF |  TYPEG |  TYPEBF |  TYPEU TYPE TT TYPE CA DOG POINT

o | GEUN | SSS | o o | «<ITE | CAONIe

To Order Call: 708-447-4500 or Outside lllinois 800-837-8707




RETAINING RINGS

“E” STANDARD TYPE RETAINING RING
SHAFT BOX QTY ITEM # SHAFT BOX QTY ITEM #

2712 s Jo51

The LA113 Pan
Assortment contains the
following items:

ITEM #
LA113 J1547, J2711, J2713, J2715,
J4099, J4100, J4101, J4102,

EXTERNAL & INTERNAL SNAP RINGS
SHAFT BOXQTY EXT.ITEM# INT.ITEM# SHAFT BOXQTY EXT.ITEM# INT.ITEM #

C a6 | o | uae | — | e | s | s | sese
< )

The LA115 Pan Assortment
contains the following items:
J2763, J2764, J2765, J2766, J2767,

J2773, J2774, J4112, J4113, J4114,

The LA114 Pan Assortment
contains the following items:

ITEM #
LA115

J4120, J4121, J4122, J4123

J2750, J2751, J2752, J2753, J2754,
J2760, J2761, J4124, J4126, J4127,




REPAIR KITS, STUDS, ETC.

THREAD REPAIR KITS / INSERTS
SIZE KITITEM# BOXQTY INSERTITEM# SIZE  KITITEM# BOX QTY INSERTITEM#

0D

Additional sizes available

TRUCK WHEEL STUDS & NUTS

DESCRIPTION (SIZE) BOX QTY ITEM # @

3/4 - 10 x 2-3/4 Wheel Stud (Dayton Wheel) WHEEL NUT OUTER NUT
=)
INNER NUT

3/4 - 16 L.H. Inner Nut (Budd Wheels) BWPM129 C TARP STRAP

INSERTS

I

REMOVER SETTER

Wheel Stud Remover (3/4”-10) 1 BWPM1181

GLADHANDS AND SEALS
DESCRIPTION BOX QTY ITEM #

Universal Glad Hand with Rubber Seal

Emergency Glad Hand with Rubber Seal (Red) GHE )
Bolt on Emergency Glad Hand - 37 Degree GH5327 A °
(@4 <smet

BWPM
Urethane Glad Hand Seal Blue GHBUS GHsa17 312
Glad Hand Protector 100 GHP - C .

GHBUS GHRUS

GH5327

To Order Call: 708-447-4500 or Outside lllinois 800-837-8707
33




COTTER PINS

STEEL COTTER PINS

HOW TO MEASURE
Point of Contact With Hole

] > semER LT
= . Diameter

~<«— Length —> i

DIAMETER X LENGTH BOX QTY ITEM # DIAMETER X LENGTH BOX QTY ITEM #

116 x 1/2 CP1002 3/16 x 2-1/2 CP3022

1/16 x 1 CP1010 3/16 x 4 CP3040

1/16 x 2 CP1020 1/4 x 1-1/2 CP4012

7/64 x 1-1/4 CP1311 1/4 x 2-1/2 CP4022

3/32 x 3/4 CP1503 1/4 x 3-1/2 CP4032

3/32 x 1-1/4 CP1511 1/4x5 CP4050

3/32 x 2 CP1520 5/16 x 2 CP5020

| 1/8 x 3/4 CP2003 5/16 x 3 CP5030
1/8 x 1-1/4 CP2011 5/16 x 4 CP5040

7 1/8 x 1-3/4 CP2013 5/16 x 6 CP5060
1/8 x 2-1/2 CP2022 3/8 x 2 CP6020

5/32 x 1 CP2510 3/8 x 3-1/2 CP6032

5/32 x 2 CP2520 3/8x5 CP6050

5/32 x 3 CP2530 7/16 x5 CP7050

3/16 x 1 CP3010 1/2x 3 CP8030

3116 x 2 CP3020 1/2x5 CP8050

The LA112 Pan Assortment
contains the following items:

CP1010, CP1012, CP1510, CP1520,

CP3020, CP3030, CP4020, CP4030

To Order Call: 708-447-4500 or Outside lllinois 800-837-8707




CLEVIS PINS, ROOFING NAILS

CLEVIS PINS
SIZE BOX QTY ITEM #

CHIVERSAR G EVISIRINS

SIZE BOX QTY ITEM #

1/4 x 1-1/2 PIN0412 1/2 % 1-1/2 PIN0812
5/16 x 2 PIN0520 5/8 x 3 PINO1030

TENSION "ROLL” PINS - High Carbon Steel
SIZE BOX QTY ITEM # SIZE BOX QTY ITEM #

The LA117 Pan Assortment
contains the following items:

ITEM #
LA117 J2727, 42731, J2736, J2738, J2739,
J4598, J4602, J4616, J4618, J4619,

J4652, J4654, J4659, J4660

SPRING CENTER BOLTS - S.A.E. Fillister Head
SIZE BOX QTY ITEM # SIZE BOX QTY ITEM #

3/8 x 6 J3206 1/2 x 10 J3217

ROOFING NAILS - GALVANIZED
ITEM # DESCRIPTION QTY

MIAGN 1-1/2” GAL NAILS

MIAGNB 1-1/2” GAL NAILS 50 LB

To Order Call: 708-447-4500 or Outside lllinois 800-837-8707
35




